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1 Introduction

The simulation assumptions for the DL performance evaluations of enhanced uplink are listed in tdoc R4-050024. They have been agreed in the telephone conferences held since last meeting. The summary of the teleconferences is presented in R4-050022.

2 Simulation results
Simulation results of an ideal receiver for 3 km/h PedA and PedB, 30 km/h VA 30 and 120 km/h. are presented in this contribution.

In the Ericsson simulations the parameters in Table 3 of R4-050024, 
1) ACK (100% of time), the misdetection probability, given that ACK is transmitted continuously, and 
3) DTX (100% of time), the false alarm probability, given nothing (DTX) is transmitted.
were simulated. I.e, the case NACK (99% of time, 1% DTX) has not been simulated.
The detection threshold for an ACK is based on a false alarm probability equal to 1%. We did choose 1% as the proper level for AWGN since the minimum requirement of the false alarm rate in HSDPA for the basestations is 1%. It also seems lika a reasonable level. A 1% false alarm rate will give a very small impact in the throughput.

In the simulation results given in Figs 1-4 below, the false alarm probability is plotted against the Ec/Ior. All of these results shall give 1% false alarm rate since nothing is transmitted on the code during the simulations, it is not a function of the Ec/Ior. 
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Figure 1: Simulation results for Pedestrian A, 3 km/h.
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Figure 2 Simulation results for Pedestrian B, 3 km/h.
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Figure 3 Simulation results for Vehicular A, 30 km/h.
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Figure 4 Simulation results for Vehicular A, 120 km/h.
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